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2. Evaluate each expression if a = %, b =(-8), ¢ = (-2), d=3, and e=§.
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3. The formula F = —C + 32 gives the temperature in degrees Fahrenheit for a given

temperature in degrees Celsius What is the temperature in degrees Fahrenheit when
the temperature is (-40) degrees Celcius?
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4. Name the sets of numbers to which each number belongs.
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6. Write an algebraic expression to represent each verbal expression.
a. 2 more than the quotient of a number and 5

b. 1 less than twice the square of a number




7. Solve each equation.
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8. Soﬁl&ach equatlon or formula for the specified variable.
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9. Evaluate-each expres{s:s:[on ifa=(-1),b=(8),c=5 andd=(-1.4).
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10.Solve each equation. Check your solutions.
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11.Solve each inequality. Graph your solution on a number line. LAAW =7 ;\-
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. S5k+2<-13 or 8k—1>19
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